* N N

A0 Briche mit gemeinsamen Nenner dividieren (grofier
als 1)

4 v 0
Y Die Zeit

Aufgabe 1 Aufgabe 2
2 2 2 4
. 4— : 1— = .. 3— : 2— =
3 3 5 5
1 2 1 3
2. 44— 3— = 2. 44— 1— =
4 4 5 5
1 3
3. 3 — 2— = 3. 44— 3— =
4 4 5
3 4
43— ¢ 2— = Lo 4 — 3— =
4 4
4 4
52— 1— = 52— : 1— =
3 3 5 5
Aufgabe 3 Aufgabe 4
3 3 2 2
. 4— : 3— = T 4—  1— =
4 4 5 5
2 2 2 3
2. 2— 2— = 2. 3— 1— =
4 4 4 4
2 2 3
3. 3— 3— = 3. 2— 1— =
5 5 4
1 1 4
4. 3 — 1— = b b— o 22— =
5 5
4 1 3
5 4— 3— = 5 2— 1— =
5 5 4 4
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00 Briiche mit gemeinsamen Nenner dividieren (gréBer * AW
als 1) | ANTWORTEN

v
o
Fax S

Die Zeit

Aufgabe 1 Aufgabe 2
2 2 4 2 4 3
1. 4 — 1— = 2— 1. 3— 2— = 1—
3 3 5 5 5 14
1 2 3 1 3 5
2. 4 — 3— = 1— 2. 4 — 1— = 2—
4 4 14 5 5 8
3 2 1 1 3 1
3. 3— 2— = 1— 3. 4 — 3— = 1—
4 4 2 5 5 6
2 2 2 3 4 4
4. 3 — 2— = 1— Lo 4 — 3— = 1—
4 4 5 5 5 19
2 2 3 4 4 5
52— 11— = 1— 5 2— 1— = 1—
3 3 5 5 5 9
Aufgabe 3 Aufgabe 4
3 3 4 2 2 1
T 44— : 3— = 1— T 4= : 1— = 3—
4 4 15 5 5 7
2 2 2 3
2. 2— 2— =1 2. 3 — 1— = 2
4 4 4 4
2 2 3 1 1
3. 3 — 3— = 1 3. 2— 1— = 2—
5 5 4 4 5
1 1 3 4 4 5
4. 3 — 1— = 2— Lo 4 — 2— = 1—
4 4 5 5 5 7
4 4 5 1 3 2
5 4— : 33— = 1— 52— : 1— = 1—
5 5 19 4 4 7
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